Intro to College Math: Chapter 12.2
Quadratic Formula
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2. Solve the following.
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3. Solve the equation using factoring or quadratic formula. a_‘"‘ - Qo, =0
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4. Solve the following. 9 %2 +4 =0
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5. Solve the equation. 2 'Q\jg =3
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6. Solve the equation. (Y- 93% =Q
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7. Solve by the quadratic formula. List the solutions, separated by a comma. - L\ fx,g < - lg‘)(, + 30
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9. Find all solutions of the equation by using the quadratic formula. ’)(,9 - LQ x ’\"5\0 =0
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10. Find all solutions of the equation by using the quadratic formula. "{ \ga - Sk Li="7
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